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  188    Košice - Plaveč - Muszyna 
km  Vlak  8740 

 
 
 

  8760 
 
 
 

 8790 
 
 
 

 8306 
 
 
 

  8762 
 
 
 

  8764 
 
 
 

 8792 
 
 
 

 R 801 
 
 
 

 8792 
 
 
 

  8700 
 
 
 

  Zo stanice           Bratislava 
hl.st. 

   

0 Košice 160,169,180,190    4 22  5 00    5 37   6 40  7 00  7 01    7 40 

4 Ťahanovce 180    4 26  5 04    5 42   6 45  7 04  P   7 04   7 44 
9 Kostoľany nad Hornádom 180    4 31  5 09    5 47   6 50    O   7 09   7 49 

14 Trebejov 180    4 37  5 14    5 52   6 55   Ľ   7 14   7 54 

16 Kysak 180     4 39  5 17    5 55   6 58   A 7 13  7 17   7 57 

 Kysak  0 22   4 41  5 18    5 58   7 03   N 7 18  7 18   7 58 

19 Obišovce     4 46  5 22    6 02   7 07   A   7 22   8 02 
20 Ličartovce     4 49  5 28    6 06   7 09     7 24   8 07 
23 Drienovská Nová Ves obec     4 54  5 32    6 10   7 13     7 27   8 10 

24 Drienovská Nová Ves     4 57  5 34    6 12   7 15     7 30   8 13 
26 Kendice     5 00  5 37    6 15   7 18     7 32   8 15 
30 Haniska pri Prešove     5 04  5 42    6 19   7 22     7 36   8 19 
33 Prešov 193,194   0 38   5 08  5 46    6 23   7 26   7 34  7 40   8 24 

 Prešov 193,194    5 49  5 49    6 39   7 49    7 49   

35 Prešov mesto    5 54  5 54    6 43   7 54    7 54   
42 Veľký Šariš    5 58  5 58    6 47   7 58    7 58   
48 Šarišské Michaľany    6 05  6 05    6 54   8 05    8 05   
52 Orkucany    6 10  6 10    6 58   8 09    8 09   

54 Sabinov    6 14  6 14    7 02   8 13    8 13   
58 Pečovská Nová Ves    6 19  6 19    7 07   8 18    8 18   
60 Červenica    6 22  6 22    7 09   8 20    8 20   
62 Rožkovany    6 25  6 25    7 13   8 24    8 24   
65 Lipany     6 29  6 29    7 16   8 27    8 27   

 Lipany      6 51          

68 Krivany      6 55          
78 Pusté Pole      7 08          

83 Ďurková      7 15          
85 Ľubotín      7 19          
88 Plaveč 185       7 23          

 Plaveč 185      7 25          

90 Orlov               
94 Čirč               

103 Muszyna                

  Do stanice     Poprad-
Tatry 

         

 nejde v   ide v  a 
 

1
8

8


 



 

 

2
1

3
 

 

  188    Košice - Plaveč - Muszyna 
km  Vlak   8766 

 
 
 

  8702 
 
 
 

 8768 
 
 
 

  R 1931 
 
 
 

 8770 
 
 
 

  8742 
 
 
 

 8772 
 
 
 

  8774 
 
 
 

 8754 
 
 
 

  Zo stanice       Zvolen os. 
st. 

       

0 Košice 160,169,180,190   10 12   11 40  12 40   13 16  13 38    14 33   15 50  

4 Ťahanovce 180   10 16   11 44  12 45   B   13 42    14 37   15 54  
9 Kostoľany nad Hornádom 180   10 21   11 49  12 50   O 13 24  13 47    14 42   15 59  

14 Trebejov 180   10 26   11 54  12 56   D   13 52    14 47   16 04  
16 Kysak 180    10 29   11 57  12 58   V 13 31  13 55    14 50   16 07  

 Kysak   10 30   11 58  13 01   A 13 32  13 56   14 25  14 51   16 08  

19 Obišovce   10 34   12 02  13 06     14 01     14 55   16 12  
20 Ličartovce   10 36   12 05  13 08     14 04     14 59   16 14  
23 Drienovská Nová Ves obec   10 40   12 08  13 12     14 08     15 03   16 17  

24 Drienovská Nová Ves   10 42   12 11  13 17     14 11     15 06   16 20  
26 Kendice   10 45   12 13  13 20     14 14     15 09   16 22  
30 Haniska pri Prešove   10 50   12 17  13 24     14 19     15 13   16 27  
33 Prešov 193,194    10 54   12 22  13 28   13 48  14 23   14 41  15 17   16 31  

 Prešov 193,194   10 55    13 30    14 26    15 20   16 36  

35 Prešov mesto   10 59    13 35    14 30    15 24   16 41  
42 Veľký Šariš   11 06    13 39    14 35    15 30   16 47  
48 Šarišské Michaľany   11 13    13 46    14 42    15 36   16 54  
52 Orkucany   11 17    13 50    14 47    15 40   16 58  

54 Sabinov   11 21    13 54    14 51    15 44   17 02  
58 Pečovská Nová Ves   11 26    13 59    14 56    15 49   17 06  
60 Červenica   11 28    14 01    14 59    15 52   17 09  
62 Rožkovany   11 32    14 05    15 02    15 55   17 12  
65 Lipany    11 35    14 08    15 06    15 58   17 16  

 Lipany            15 59    

68 Krivany            16 03    
78 Pusté Pole            16 16    

83 Ďurková            16 23    
85 Ľubotín            16 27    
88 Plaveč 185             16 32    

 Plaveč 185               18 04 
90 Orlov               18 07 
94 Čirč               18 12 

103 Muszyna                

  Do stanice               

 nejde v   ide v  a   ide v , nejde 1.VII.-31.VIII.
 

1
8

8


 



 

 

2
1

4
 

 

  188    Košice - Plaveč - Muszyna 
km  Vlak   8776 

 
 
 

 8778 
 
 
 

  R 933 
 
 
 

 R 1505 
 
 
 

  8780 
 
 
 

  8744 
 
 
 

  8782 
 
 
 

  8704 
 
 
 

  Zo stanice     Zvolen os. 
st. 

Bratislava 
hl.st. 

        

0 Košice 160,169,180,190   16 58  18 12   19 40    20 00     22 12   23 00 
4 Ťahanovce 180   17 02  18 16   D   Š    20 04     22 16   23 04 
9 Kostoľany nad Hornádom 180   17 07  18 21   O   A    20 09     22 21   23 09 

14 Trebejov 180   17 12  18 26   M   R    20 14     22 26   23 14 
16 Kysak 180    17 15  18 29   I 19 52  I    20 17     22 29   23 17 

 Kysak   17 16  18 30   C 19 53  Š    20 18   21 55   22 30   23 18 
19 Obišovce   17 20  18 34   A   A    20 22   21 59   22 34   23 22 
20 Ličartovce   17 25  18 36     N    20 24   22 04   22 36   23 24 
23 Drienovská Nová Ves obec   17 28  18 40        20 27   22 08   22 39   23 27 
24 Drienovská Nová Ves   17 31  18 43        20 30   22 10   22 42   23 30 
26 Kendice   17 33  18 46        20 32   22 13   22 44   23 33 
30 Haniska pri Prešove   17 37  18 50        20 36   22 17   22 48   23 37 
33 Prešov 193,194    17 41  18 54   20 09  20 16   20 40   22 22   22 52   23 41 

 Prešov 193,194   17 43  18 57    20 32   20 41     22 54   

35 Prešov mesto   17 47  19 02      20 45     22 59   
42 Veľký Šariš   17 52  19 06      20 50     23 03   
48 Šarišské Michaľany   17 58  19 13      20 56     23 10   
52 Orkucany   18 02  19 17      21 00     23 14   

54 Sabinov   18 06  19 21      21 06     23 18   
58 Pečovská Nová Ves   18 11  19 26      21 11     23 23   
60 Červenica   18 13  19 28      21 13     23 25   
62 Rožkovany   18 17  19 32      21 17     23 29   
65 Lipany    18 20  19 35      21 20     23 32   

 Lipany               

68 Krivany               
78 Pusté Pole               

83 Ďurková               
85 Ľubotín               
88 Plaveč 185                

 Plaveč 185               

90 Orlov               

94 Čirč               
103 Muszyna                

  Do stanice      Humenné         

 nejde v 
 

1
8

8


 



 

 

2
1

5
 

 

  188    Muszyna - Plaveč - Košice 
km  Vlak  8741 

 
 
 

  8701 
 
 
 

  8761 
 
 
 

 8763 
 
 
 

  8765 
 
 
 

  8303 
 
 
 

 8767 
 
 
 

 R 932 
 
 
 

  8769 
 
 
 

  Zo stanice          Poprad-
Tatry 

    

0 Muszyna               

9 Čirč             D    
13 Orlov             O    
15 Plaveč 185            6 04   M    

 Plaveč 185           6 06   I    

18 Ľubotín           6 11   C    
20 Ďurková           6 14   A    

25 Pusté Pole           6 21     
35 Krivany           6 35     
38 Lipany            6 38     

 Lipany      4 31  5 07   5 59    6 46    9 07 
41 Rožkovany      4 34  5 10   6 02    6 49    9 10 
43 Červenica      4 37  5 13   6 05    6 53    9 13 
45 Pečovská Nová Ves      4 40  5 16   6 08    6 56    9 16 
49 Sabinov      4 45  5 21   6 14    7 02    9 21 
51 Orkucany      4 49  5 25   6 18    7 06    9 25 
55 Šarišské Michaľany      4 53  5 29   6 22    7 11    9 29 
61 Veľký Šariš      4 58  5 34   6 27    7 17    9 34 
68 Prešov mesto      5 04  5 40   6 33    7 24    9 40 
70 Prešov 193,194       5 08  5 44   6 37    7 28    9 44 

 Prešov 193,194  0 01   3 46   5 10  5 47   6 38    7 46  9 15   9 46 

73 Haniska pri Prešove     3 50   5 14  5 52   6 42    7 51     9 50 
77 Kendice     3 54   5 18  5 56   6 46    7 55     9 54 
79 Drienovská Nová Ves     3 57   5 21  5 58   6 49    7 58     9 57 

80 Drienovská Nová Ves obec     3 59   5 23  6 01   6 51    8 01     10 00 
83 Ličartovce     4 03   5 27  6 04   6 55    8 06     10 04 
84 Obišovce     4 05   5 29  6 07   6 57    8 09     10 06 
87 Kysak   0 17   4 09   5 33  6 10   7 01    8 13  9 31   10 10 

 Kysak 180    4 10   5 34  6 11   7 02    8 14  9 32   10 11 

89 Trebejov 180    4 13     6 14   7 05    8 17     10 14 
94 Kostoľany nad Hornádom 180    4 18   5 41  6 19   7 11    8 22     10 19 

99 Ťahanovce 180    4 23     6 24   7 16    8 27     10 24 
103 Košice 160,169,180,190     4 27   5 48  6 28   7 20    8 31  9 44   10 28 

  Do stanice            Zvolen os. 
st. 

  

 nejde v 
 

1
8

8


 



 

 

2
1

6
 

 

  188    Muszyna - Plaveč - Košice 
km  Vlak  8743 

 
 
 

  8771 
 
 
 

  8773 
 
 
 

 8703 
 
 
 

 8705 
 
 
 

 R 934 
 
 
 

 8705 
 
 
 

 8791 
 
 
 

 8775 
 
 
 

 R 1504 
 
 
 

 8791 
 
 
 

 

  Zo stanice            Humenné   

0 Muszyna               

9 Čirč         G      Š    
13 Orlov         E      A    
15 Plaveč 185          M      R    

 Plaveč 185         E      I    

18 Ľubotín         R      Š    

20 Ďurková         A      A    

25 Pusté Pole         N      N    
35 Krivany               
38 Lipany                

 Lipany    11 07   12 27      14 35  14 35    

41 Rožkovany    11 10   12 30      14 38  14 38    
43 Červenica    11 13   12 33      14 41  14 41    
45 Pečovská Nová Ves    11 16   12 36      14 44  14 44    
49 Sabinov    11 22   12 41      14 51  14 51    

51 Orkucany    11 25   12 44      14 55  14 55    
55 Šarišské Michaľany    11 29   12 48      14 59  14 59    
61 Veľký Šariš    11 34   12 54      15 04  15 04    
68 Prešov mesto    11 41   13 00      15 10  15 10    
70 Prešov 193,194     11 44   13 04      15 14  15 14  15 25   

 Prešov 193,194  10 23   11 46   13 06  13 46  14 42  14 46     15 40  15 44  15 49  

73 Haniska pri Prešove     11 50   13 10  13 50  14 46      15 44    15 54  
77 Kendice     11 54   13 14  13 54  14 50      15 48    15 58  
79 Drienovská Nová Ves     11 57   13 17  13 57  14 52      15 51    16 00  

80 Drienovská Nová Ves obec     12 00   13 20  13 59  14 54      15 53    16 03  
83 Ličartovce     12 05   13 24  14 06  14 58      15 57    16 06  
84 Obišovce     12 08   13 26  14 08  15 00      15 59    16 09  
87 Kysak   10 42   12 12   13 30  14 12  15 03  15 03    16 03   16 12  

 Kysak 180    12 13   13 31  14 14    15 07  15 08   16 04   16 14  

89 Trebejov 180    12 16   13 34  14 16     15 11   16 07   16 17  
94 Kostoľany nad Hornádom 180    12 21   13 39  14 21     15 16   16 12   16 22  
99 Ťahanovce 180    12 26   13 44  14 26     15 21   16 17   16 27  

103 Košice 160,169,180,190     12 30   13 48  14 30   15 19  15 25   16 21   16 31  

  Do stanice        Zvolen os. 
st. 

   Bratislava 
hl.st. 

  

 nejde v 
 

1
8

8


 



 

 

2
1

7
 

 

  188    Muszyna - Plaveč - Košice 
km  Vlak  8777 

 
 
 

  9222 
 
 
 

 9212 
 
 
 

  8779 
 
 
 

  8755 
 
 
 

 8781 
 
 
 

  8745 
 
 
 

  R 800 
 
 
 

 8783 
 
 
 

  Zo stanice   Bardejov Bardejov           

0 Muszyna               

9 Čirč         18 17      P   
13 Orlov         18 22      O   
15 Plaveč 185          18 25      Ľ   

 Plaveč 185          18 33     A   

18 Ľubotín          18 37     N   

20 Ďurková          18 40     A   

25 Pusté Pole          18 47      
35 Krivany          19 01      
38 Lipany           19 04      

 Lipany  16 17      17 50    19 05      20 51 
41 Rožkovany  16 20      17 53    19 08      20 54 
43 Červenica  16 24      17 57    19 12      20 57 
45 Pečovská Nová Ves  16 27      18 00    19 15      21 00 
49 Sabinov  16 32      18 06    19 21      21 05 
51 Orkucany  16 36      18 10    19 25      21 09 
55 Šarišské Michaľany  16 41      18 14    19 29      21 13 
61 Veľký Šariš  16 46      18 19    19 34      21 18 
68 Prešov mesto  16 54      18 25    19 40      21 24 
70 Prešov 193,194   16 57   17 01  17 52   18 29    19 44      21 28 

 Prešov 193,194  17 04   17 54  17 54   18 30    19 46   20 46   21 33  21 46 

73 Haniska pri Prešove  17 09   17 59  17 59   18 34    19 50   20 50     21 50 
77 Kendice  17 13   18 03  18 03   18 39    19 54   20 54     21 54 
79 Drienovská Nová Ves  17 16   18 05  18 05   18 46    20 01   20 57     21 57 

80 Drienovská Nová Ves obec  17 19   18 08  18 08   18 49    20 04   20 59     21 59 
83 Ličartovce  17 23   18 12  18 12   18 53    20 07   21 03     22 03 
84 Obišovce  17 26   18 15  18 15   18 56    20 10   21 05     22 05 
87 Kysak   17 30   18 18  18 18   19 00    20 13   21 09   21 49  22 09 

 Kysak 180  17 31      19 03    20 14     21 50  22 10 

89 Trebejov 180  17 34      19 06    20 17       22 13 
94 Kostoľany nad Hornádom 180  17 39      19 11    20 22       22 18 
99 Ťahanovce 180  17 44      19 16    20 27       22 23 

103 Košice 160,169,180,190   17 48      19 20    20 31     22 01  22 27 

  Do stanice             Bratislava 
hl.st. 

 

 nejde v   nejde v   ide v , nejde 1.VII.-31.VIII.
 

1
8

8


 


